oo oo ououodod

gogn gogobbobobobboodgooooooon

godn gogobbobbouodooooon

HEN HEN

goon

goon goobobobbbdooooobobobbogoo
gooobosn

goon 13669738226 13669738226

HREREEN

Oooooo3)igdgoobobobo obbbobbboddoooooooobo
Jogdobbobbuooouobbuoooouobbbouooouobobobagd
JogdoobbobbooogouoobiogooMPa g oobooooooon
oo ubobbuooooobboooooboboboogn
Joddobbbbogoogooobbgooooobobbuooooobobbuod
ogdoubbogoodgooobbgooooobbbuoooooobbunod
ogdoubbogoodoooobbgooooobobbuoooooobbunod
bbbt ooouooboobouoonn

ODee30 00U OOODOO0O0O0OLUOOOUOO0O0OOUDNOUOUOUOobooogog
Joogobbooboobobuobobouobtbuoboboobouobbobobouobbd
Joboggboboobuobobobobtuobuoboboobouobbobobouobbn
JogdobobloMmMOUOOOooozssi108su oo pesu oo gosygd
ogdobbobboooggouoonDiess-suusvmu oo ooooogn
ooogoo

'm0 0O =0.006165 x 1002=61.65kg0] [ [ 0 kg/mJ W=0.00617 x dx dd=
O000mmOOOO0O122mmO000000mO0O000O0mMOO=0.00617 x 12
2=0.89%kg0 OO O kg/mOW=10.00785% ax aa=U0 OmmO0 d020mmO 00000 m



000 OmOO0=0.00785x 202=3.14kg0 O O kg/mO W= 0.00785 x b x db= 0 O mmd=
OmmOO040mmO05mmO00000mO000mOD0=0.00785x 40 x 5=

1.57kg0 O O O kg/m0 W=0.006798 x sx ss= 0 0 0 0 mmO 0 0 050 mm
000000O0OmOO000mOO=0.006798 x 502=17kg0 0 O O kg/mO W= 0.0065 X s
xss=0000mmO00008OmMmOOO0O000OmOO0OmO O =0.0065

x 802=41.62kg0) 0 0 O O kg/mO =0.00785 x [d 0 2b— d 0 +0.2150R2— 2r2 0 Jb=
O00d=00R=0000r=0000020mmx 4mmO00000m
000000000000 04mmx 20mmO0000RO350r012000m0O0=
0.00785x [4x 02x 20— 40+0215x 0352— 2x 1.220]=1.15kg0 000 00O

goooobbbo-ggobu-bgooooobboooooobboooooobbbuouoo
gobbobbbuodoogobbob ., bbbodoogobobobbodooooobobobbogad
goooobbbbooooobbbogooouobbbboooouobobbboooooobobbon
gobooooboood


http://www.tcpdf.org

